

$$x(t) = \cos(\Omega t) \cdot x_0 + \Omega^{-1} \sin(\Omega t) \cdot v_0$$

$$x_0 = \sum_z x_0^z m_z$$

$$v_0 = \sum_z v_0^z m_z$$

$$\begin{bmatrix} x_0^1 \\ x_0^2 \\ \vdots \end{bmatrix}$$

$$\begin{bmatrix} m_z^1 \\ m_z^2 \\ \vdots \end{bmatrix}$$

$$\underbrace{\delta_{zz}}$$

$$x_0 \cdot m_z = \sum_z x_0^z m_z \cdot m_z = x_0^z$$

$$x_0^z = x_0 \cdot m_z$$

$$v_0^z = v_0 \cdot m_z$$

$$x_0 = \sum_z x_0^z e_z \rightarrow \begin{bmatrix} x_0^1 \\ x_0^2 \\ \vdots \end{bmatrix}$$

$$e_1 = \begin{bmatrix} 1 \\ 0 \\ \vdots \end{bmatrix}$$

$$e_2 = \begin{bmatrix} 0 \\ 1 \\ \vdots \end{bmatrix}$$

$$e_3 = \begin{bmatrix} 0 \\ 0 \\ 1 \\ \vdots \end{bmatrix} \dots$$

$$m_z = \Pi \cdot e_z \quad \Pi = \begin{bmatrix} | & | & | & \dots \\ | & | & | & \dots \\ | & | & | & \dots \end{bmatrix}$$

e_z ortonormalni báze

m_z ortonormalni báze

↓

Π je ortonormalni matice

$$\Pi \cdot \Pi^T = \mathbb{1} \Leftrightarrow m_z \cdot m_z = \delta_{zz}$$